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BELLTONEFH-BEEEIERESEE '
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BEEEOABEERUHSERERENIIRIET 510 132.000
DERICE OIS EERIEEE ’
BB AFB0KIC L DB AMEL TR, FIKITE 500
SR ERTEHEELER
BEEEEREICISIAXERFOEREESEE 2,750,000
BERUBEIR. BERBNTSZE 52,000
BREEYMDOEESXE 260,000
FEERERIE IS FHEBRESE 0
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FEHRERBEEOEREIOIEICRIEE 0
16,486,000
2 F0it
HUXA 50,000
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250,000
BEIIASE 16,736,000

1/3




£t E] ES % (Bfy . TH)
I BEERHOR
1 BX%%
(1) ANt%E
HBWHEFS 9,477,000
EEENE 1,177,000
EAELEE 28,000
BEE 318,000
AN EE 11,000,000
(2) ZDiRE
TAMEE 150,000
5EE 577,000
R & 17,000
HEEEE 28,000
BEEE 600
ERE 116,000
BHME 40,000
TEE 33,000
HhRRE 515,000
HlZ 80,000
) — & 214,000
B 61,000
RIEHEE 120,000
KESBE 436,000
BMER & 80,000
ENRI& 50,000
EHERARE 250,000
HERE 0
BIEE 138,000
EFHE 35,000
ZIVRIRE 66,000
HHAER 18,000
RAE 48,000
A 1,000
LEETE 14,000
FEREE 12,000
SEBERE 8,000
BEWEE 7,000
WREXEE 40,000
Z D 5,000
ZDHREE 3,159,600
EXEH 14,159,600
2 EBE
(1) A&
HBAFL 884,000
EEEMNE 200,000
BHELEE 50,000
BHE 27,000
A& 1,161,000
(2) ZnhxE
5\ EE 21,000
HILE 4,000
AT LER 69,000
RS 140,000
HlmE 3,000
)—2& 13,000
e 7,000
RTEEE 33,000
KESEE 15,000
BME R 2 8,000
ENl & 16,000
EXHARE 18,000
BIEE 20,000
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%t = S P (Bl . TH)
T 6,500
TIRIEE 10,000
L N 268,000
RHEE 4,000
BHNE 500
LEEEE 4,000
FRENEE 5,000
SEBELE 6,000
BEWMEE 3,000
EHEHEE 5,000
REXEE 30,000
Be 10,000
EETER S 1 22,000
T E 7,400
FDith 111,000
ZOHREE 859,400
EHEH 2,020,400
BEXHEE 16,180,000
LB = 556,000
AR £ 58 1,913,605
REAREBIN T =58 2,469,605
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